MAT 1180, Reitz

NYCCT


Exam 3 Review

Covers Sections:  9.1—9.3, 10.1—10.4, 11.1, 11.4, 11.6—11.7

While every effort has been made to ensure the accuracy of the questions and solutions below, mistakes do sometimes occur.  If you discover an error please let me know, either in class, or by email to jreitz@citytech.cuny.edu.
1. Convert
a. 30 in. to ft

b. 50 km to m

c. 25.7 cg to hg
d. 96 km/hr to mi/hr (use the fact that 1 mi = 1.6 km)
e. 1 
[image: image29..pict] to 
[image: image2.wmf]
f. 5 quarts to mL (use the fact that 1 liter = 1.06 quarts)

2. For each kilogram of a person’s weight, 35 milliliters of a drug is to be given.  What dosage should be given to a person who weighs 200 lbs? (1 lb = 0.45 kg)

3. The weather report indicates the temperature tomorrow will be 
[image: image3.wmf]C.  Should you wear shorts or a jacket?  (use the fact that 
[image: image4.wmf])

4. [image: image1.wmf]The figure below left shows two parallel lines crossed by a transversal. Find the measures of angles 1 through 7.
[image: image5.wmf]
5. Lines p and q in the figure above right are parallel.  Find the measures of angles 1-8.

6. Find the area of each figure.  Use appropriate units in your answer.
[image: image6.wmf]
7. A right triangle measures 6 in. on its shortest side.  If the hypotenuse measures 10 in., find the length of the third side.

8. Find the perimeter and area of the swimming pool shown in the diagram on the left at the top of the next page.

9. Find the unknown lengths in the similar triangles shown in the diagram on the right at the top of the next page.

[image: image28..pict][image: image7.wmf]
10. Getting dressed, you can choose between five pairs of pants, eight shirts, and three pairs of shoes.  How many outfits are possible?

11. A multiple choice test has eight questions, with four possible answers for each question.  How many ways are there to complete the test?

12. One card is selected at random from a 52-card deck.  What is the probability that the card is:
a. a five
b. a club
c. a king or a club
d. not a five

13. The table below shows the number of students in a class of 30 who expect they will pass (before taking the final).  If a student is selected at random, what is the probability that they:
a. are male or do not think they will pass 
b. are female and think they will pass

	
	Think they will pass
	Do not think they will pass

	Male
	11
	9

	Female
	8
	2


14. A bag contains 5 red marbles and 4 blue marbles.  If two marbles are taken from the bag (without replacement), what is the probability that:
a. both are blue
b. the first is blue and the second is red
c. both are red

Answer Key

1. a. 2.5 ft
b. 50,000 km
c. 0.00257 hg

d. 60 mi/hr
e. 
[image: image8.wmf]
2. 3150 mL

3. You should wear shorts (
[image: image9.wmf])

4. 
[image: image10.wmf]
5. 
[image: image11.wmf]
6. a. 
[image: image12.wmf]
b. 
[image: image13.wmf]
c. 
[image: image14.wmf]  or  
[image: image15.wmf]
7. The third side has length 8 in.

8. P=63.99 ft,  
[image: image16.wmf]

9.  
[image: image17.wmf]

[image: image18.wmf]
10. 120

11. 65,536

12.  a. 
[image: image19.wmf]
b. 
[image: image20.wmf]
c. 
[image: image21.wmf]
d. 
[image: image22.wmf]
13.  a. 
[image: image23.wmf]
b. 
[image: image24.wmf]



14.  a. 
[image: image25.wmf]
b. 
[image: image26.wmf]
c. 
[image: image27.wmf]
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